NCZ! RCE UCE~FER

CHABN, =&

R F v —HDA

130T

NC & RC & UC4E UC5XE UCGE
(CHr—REBMFRIL b 4 EKER)
TW TW
F—SW _L CW ~—SW CW HH
N , Cl—pm=] CH 4N ~—L4-|»7CL oSN ~—CH—
AO— AO o Sk
AP CP AP——{CP| ‘ -
- S =
C ot il b
i A ° ] N
SB o K | | cK o K CK
L ] @ N f - N N
RO Y o oy 'n —
| g R 1 8, A0
L E 0
1 (] |—_l " il i 1{ 1] l—_l b N 1] qTT
o l— I__J a © O l— [___J J O 5:{
{ o 4 [ o g
w N L w L N Y w L
Ot Bl — _fw 15 ,:ﬁ o
Sl — o A i
e - T He s ¢ THile =5 loleg -
~“NHL—R CR JNH R—- CR
2 5] 2-1R 2—2R 2-3L 2—4L
=g AT
i E Or [« (O 0 T (A0 ke
— = | = —r
HFHLDNo. = HIEE T S L,
BlEzAm  HOBMIEADEBEBHR
B D mm
=e D |DOF— CD |CDO*—
Ci k CH| C E F G A | HH L N K CL|CN|CK SW|CW | TW
(¢} (h6) | SBXST (h6) | CBXCT
RCO 35| 90| 60| 62| 19 81 | 282|178 | 70| 30| 25| 14 | 5x3 176 | 60 | 55| 28 | 8x4 100 | 236 | 336
NCO 38| 97| 60| 62| 19 81 | 282|184 | 90| 40| 35| 18 | 6x3.5|194| 60| 55| 28| 8x4 130 | 254 | 384
NCX 61| 118 | 70| 74| 28 | 108 | 344|246 | 96 | 45| 40| 18 | 6x3.5|225| 60| 55| 32 | 10x5 141 | 285 | 426
gg} 87| 130 | 80| 84| 28 | 112 | 384|266 | 100 | 60| 55| 24 | 8xa |252| 80| 75| 38 | 10x5 160 | 332 | 492
Egg 140| 155 | 95 | 100 | 35 | 135 | 460| 316 | 128 | 60 | 55| 28 | 8x4 | 310|110 | 100 | 45 | 14x5.5 | 188 | 420 | 608
Egg 240| 180 | 124 | 128 | 35 | 163 | 574|380 | 165 | 80 | 75| 32 | 10x5 | 408 | 130 | 120 | 60 | 18x7 235 | 538 | 773
UC4 | 450| 217 | 162 | 158 | 44 | 202 | 728| 457 | 209 | 150 | 140 | 38 | 10x5 | 480 | 140 | 130 | 75 | 20x7.5 | 359 | 620 | 979
UC5X | 760| 268 | 203 | 200 | 50 | 250 | 906 | 568 | 237 | 170 | 160 | 45 | 12x5 585 | 170 | 160 | 85 | 24x8 | 407 | 755 [ 1162
UC6 |1200| 300 | 220 | 220 | 65 | 285 |1010| 640 | 283 | 170 | 160 | 60 | 15x5 750 | 210 | 200 | 110 | 28x10 | 453 | 960 | 1413
8 2 B O®E g OB R ] 1+ B8 % Fhimta C1F HE
=
R CR|DH|NH |DC|NC| H S T | AP|AO | CP | OP |CO| HP |HO|%D %CD Y
RCO 73 | 164 60 | 35 7 24 12 9 38 | 110 | 138 81 | — 52 | 310 | 340 | M6x12 | M10%x20| 0.9
NCO 89 | 182 60 | 35 7 24 12 16 66 | 140 | 170 84 | — 52 | 310 | 340 | M6x12 | M10%x20| 1.5
NCX 95 | 207 90 | 45 10 26 14 16 80 | 140 | 174 | 110 | — 45 | 380 | 414 | mex12|M12x24| 3.0
';g:" 98 | 235 90 | 45 10 26 14 18 90 | 150 | 185 | 130 | — | 60 | 420 | 455| M8x16 | M12x24 | 3.3
NC2Z | 125 | 200 | 130 | 55 | 14 | 40 | 18 | 20 | 104 | 200 | 240 | 160 | — | 60 | 510| 550 [ M10x20 | M16x32| 6.3
ggg 149 | 377 | 130 | 55 14 | 40 20 | 27 | 116 | 240 | 280 | 218 | — | 65 | 628 | 668 | M12x24 | M16x32 | 10
UC4 | 202 | 455 | 160 | 55 14 | 40 24 30 83 | 350 | 412 | 205 | — | 100 | 778 | 840 | M12x24 | M16x32 | 18
UCBX | 228 | 555 | 160 | 55 18 | 40 28 36 | 105 | 410 | 490 | 205 90 | 180 | 980 | 1058 [ M16x32 | M20x40 | 24
UC6é | 266 | 710 | 160 | 55 18 | 40 35 44 | 140 | 440 | 540 | 330 | 100 | 200 | 1114 | 1194 | M16x32 | M20x40 | 41

CE) OBRICETARIL AT & EEA, BYTRIEREERYD ETHATTEHT I,

ENEIHA L 38 EE LY 7,

20



